
MKIII Arrow Joystick and Hardware
Before 4/1/96



MKIII Arrow Joystick and Hardware
Before 4/1/96

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

1031039-NLA NLA - Joystick with Tube 1 11 B
1028750-NLA NLA - Joystick with Tube 1 11 A,C
1035609-NLA NLA - Joystick with Tube 1 11 A,E
1032697-NLA NLA - Inductive, Joystick 1 12
1006191-NLA NLA - Joystick Ball Knob w/ Tolerance Ring

Assembly
1 12

50000X364-NLA NLA - Boot, Joystick 1 12
1007309-NLA NLA - Screw, Phillip Pan Head (#4-40 x 1") 1 42
1013235-NLA NLA - Pad, Spacer, Inductive Joystick 1 12
1028872-NLA NLA - Joystick Box Top, Grey 1 13
1028871-NLA NLA - Joystick Box, Bottom, Grey 1 14
1020390-NLA NLA - Screw, Phillips Flat Head (1 x 7/64") 1 45
1010051-NLA NLA - Horn (8-16V) 1 16
1010358-NLA NLA - Washer, Panel Seal (16/32 x 5/8 x 7/64") 1 47
1010042-NLA NLA - Switch, Toggle SPDT 1 28 G

See Note See Footnote 1 19 H
1028017-NLA NLA - Decal, Joystick Face 1 110
1003502-NLA NLA - Decal, Reflective 1 111
1005891-NLA NLA - Plug Button, Switch Hole 1 112
1028877-NLA NLA - Bracket, Control, Black 1 113
1028477-NLA NLA - Screw, Self Tapping (#6 x 1/2") 1 414

1027095 Plug Button, Black (7/8") 1 115
1027268 Screw, Allen Head (1/4-20 x 1") 1 316
1027266 Half Clamp, Non-Threaded Holes 1 117

1027267-NLA NLA - Half Clamp, Threaded Holes 1 118
1030890-NLA NLA - Bracket, Joystick Mounting, Black 1 119

1027274 Adjustment Lock Assemnbly, Black 1 120
1029260-NLA NLA - Bracket, Joystick Mounting, Black 1 121 F
1029256-NLA NLA - Half Clamp, Non-Threaded Holes 1 122 F

11008X014-NLA NLA - Screw, Phillips Round Head (#10-32 x 1") 1 223
1016401-NLA NLA - Screw, Phillips Round Head (#10-32 x 3/8") 1 224
1030343-NLA NLA - Joystick Bracket Assembly 1 125
1024064-NLA NLA - Joystick Box, Top and Bottom 1 126
1028914-NLA NLA - Switch, Hi / Lo / Off (Black) 1 127
1024151-NLA NLA - Label, Battery 1 128
1024066-NLA NLA - Label, Drive A - B 1 129

1006271 Extension, Joystick, Straight Style (1561)
(1/2" W x 5" L)

1 1D
1006270 Extension, Joystick, "T" Style (1560)

(4" W x 5-1/2" L)
1 1D



MKIII Arrow Joystick and Hardware
Before 4/1/96

A - Service is repair only.  Retrofitable with 1031039.  
B - After 10/93  
C - Before 11/93 - Grey Box  
D - Not Shown  
E - Before 11/91 - Black Box  
F - Trough Arm  
G - Black Switch is no longer available. The Chrome Switch part number 1010042 serves as a direct replacement  
H - Center Return Switch is no longer available for aftermarket sales.  Please contact Invacare Customer Service to obtain a 

return authorization number for estimate/repair.    

NOTE:

 


